Addition and Subtraction

Green
Complete the equations by using Complete A. Use your answers to
<or>. complete B.
“lalefal-] | Mlslofefafol-] | |
5 ¢ 3 PR oleln -1 1 [sfelefrfol-] |
Lofelzf-] | fefol+f2lol-] | |
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5 2 ¢ 2 2l+fal-1 | lzfefefafol-] | |
Use the clues to crack the alien’s Ravi and Sara are comparing the
code. number of sweets they have.

Is Sara correct? Explain why.
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I had a bag of 47 sweets.
I have eaten 5 sweets.
We will both have the

I had a bag of 49 sweets.

| have eaten 8 sweets.
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same number left.
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Complete the calculations by crossing out

Class 2F are completing the calculation the Base 10 needed in order to work out

below.
the answers below.
Chen says, Tens Ones B.
‘2 | think the answer is 78. ] II|| [ 49-17= J [ 58-36= J
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Who is correct? Prove it. |
Ali and Lacey are making number bonds to
100. Complete the key:

Are Ali and Lacey correct?

My number is ’n‘ My number is Shape .
40 so | need I 35s0 | need
option A. Q-T option D. Valve
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Addition and Subtraction

Green
>, < A:7,9 8,9 6
B. 70, 90, 80, 90, 60

Mlalelal=] | Mlsfof+lafof-] | |

5 * 3 s 3 al+ =] | [slof+f1]of-] | |
lelrl2=] | [elof+f2]o]=] | |

. . (sl+af=] | [slof+[afof-] | |

s : ‘ : aleal=1 ] eloflalol=] [

A =20; B =30; C =40;
D=10

s AT sl O e 3-0 0$- ]

Sara is incorrect. Sara has 42 sweets
and Ravi has 41 sweets. Sara has also
crossed out six ones instead of five.
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I had a bag of 47 sweets.
I have eaten 5 sweets.
We will both have the

same number left.

I had a bag of 49 sweets.
| have eaten 8 sweets.
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Chen is correct because 46 + 32 =78

A =32; 1 ten and 7 ones crossed out
on the chart. B = 22; 3 tens and 6 ones
crossed out on the chart.

Chen says,

Tens Ones

‘2 | think the answer is 78. ]
> o
Bea says, an

[ 49-17 =
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Who is correct? Prove it.

Ali is correct. Lacey is incorrect be-
cause she needs option C.

Square =5, Pentagon =8

My number is
40 so | need
option A.

My number is
35s0 | need
option D.
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Valve
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Addition and Subtraction

Yellow

Complete the equations by using

<or>or=
12 + 4 11 + 5
19 - 4 20 - 4
9 + 4 8 + 4
14 - 7 15 - 8

Use the clues to crack the alien’s
code.
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Class 2B are completing the calculation
below.

Ken says,

Tens Ones
| think the answer will have ]
o 5 tens and 6 ones.
Ol
bt Rosie says, 000 o0
e b
| think the answer will have { i +
e o
6 tens and 5 ones. @0 Q0| 0000

Who is correct? Prove it.

Josh and Marie are making number bonds
to 100.
Are Josh and Marie correct?

My number has
seven tens and

3,3 six ones so |
=

= need option C.
Josh Marie

am
A am B. c D. eight tens
:: 78 twenty-four and
nine ones

My number is
thirty-two so |
need option B.

Complete A. Use your answers to

complete B.
Clalefal-[ | Mlslofefalof-] [
ol-lsl-1 | lslol-lsfo-] | |
Lolelaf=] | felof+f2fof-] | |
ol-lsf=0 1 felef-fslof-] | |
ofl-fal=] | lelol-lafol-] | |

Nate and Harriet are comparing
the number of sweets they have.
Is Harriet correct? Explain why

| had a bag of 44 sweets.
I have eaten 8 sweets.

Later, | will eat another 7

sweets.

| had a bag of 37 sweets.
I have eaten 9 sweets.
1 will have more sweets
left than you.

100 1.1
1040 1,01

Harriet

Complete the calculations by crossing out
the place value counters needed in order
to work out the answers below.

M=

Tens Ones Tens Ones

A.
[ 89-19=

10 10 10 10 10 10 10 10

10 10 10 10 0 10 10

Complete the key:

Shape .

Valve 3




Addition and Subtraction

Yellow

=!<,>!=
12 + 4 n + 5
19 - 4 20 - 4
9 + 4 8 + 4
14 - 7 15 - 8

A=60;B=30;C=40;D=20
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A:7,3,8,4,2
B: 70, 30, 80, 40, 2

fefef-[ 1 "lalof+fafo]-] | |
lel-Is[-1 | [efol-[sfo]-] [ |
Lelel2]=] | [efol«f2fo]-] [ |
[ol-[s[-1 | [ofol-[s[e]-] [ |
Lel-lef-1 | [efol-fafe]-] [ ]

Harriet is incorrect. She will
have 28 sweets left and Nate
has 29 sweets.

| had a bag of 44 sweets.
I have eaten 8 sweets.

Later, | will eat another 7

sweets.
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| had a bag of 37 sweets.
I have eaten 9 sweets.
1 will have more sweets
left than you.

a0 10101
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Harriet

Ken is correct because 32 + 24 = 56

A =70; 1 ten and 9 ones crossed out
on the chart. B = 51; 2 tens and 5 ones
crossed out on the chart.

Ken says,

I think the answer will have

5 tens and 6 ones.

] Tens Ones

Rosie says, 000 (©]@]

Q000

I think the answer will have +
4 tens and 5 ones. @'@ [@]0)
P

A B.
[ 89-19= ] [ 76-25=
Tens Ones Tens Ones
10 10 10 10 .... 10 10 10 10 ....
10 10 10 10 ..... 0 10 10 ..

Who is correct? Prove it.

Josh is correct. Marie is incorrect be-
cause she needs option A.

Circle =4, Square =5, Pentagon = 6

My number has
seven tens and
six ones so |

My number is
thirty-two so |

need option C. need option B.

Josh Marie

~
L1
A. am B. C. D. eight tens
:: 78 twenty-four and
nine ones

Shape .

Valve 3




Addition and Subtraction

Red

Complete the equations by using

<or>or=
Ttenand 3 ones 10 + ? ones
7 ones
1ten and 1ten and
- 4 ones - 8
1one 5 ones
20 - 9 ones 5 ones + 7 ones
8 ones + 5 ones 9 + 4 ones

Complete A. Use your answers to

complete B.
Plalelal-] 1 Mlefslefafel-] | |
Lol-[sl-] | [ofof-[s[s][-] [ ]
olefsl-l 1 Lelefefsfs]-] [ |
Lol -[sl-] | [efef-[s]s][-] [ |
-l D [l f2 - [

Use the clues to crack the alien’s
code.
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Leon and Ania are comparing the number
of sweets they have.
Who has the most sweets left — Leon or
Ania? Explain how you know.

I had a bag of forty-two
sweets. | have eaten nine
sweets. My friend has

I had forty-seven sweets.
| dropped eight sweets

and have eaten nine.

eaten six sweets.
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Class 2E are completing the calculation
below.

seven tens and two ones + two tens and five ones

Lee says,

.
) [

Who is correct? Prove it.

I think the answer will have seven tens ]

and nine ones. Mia says,

- @

| think the answer will have nine tens
and seven ones.

Complete the calculations by filling in the
missing values in the sentences below.

A.
[ 67-43 =

NEEE)

[_ ones subtract __ onesis ones.J [_ ones subtract __ onesis ___ ones.]

[ ___tens subtract ___tensis __ tens. [ ___tens subtract ___tensis __ tens. ]

Scarlet and Adam are making number
bonds to 100.

Are Scarlet and Adam correct?

4

Adam

A. B. C. D.
three tens one ten and
and forty-eight sixteen
four ones
eight ones

My number has
six tens and two
ones so | need
option B.

My number has
eight tens and six
ones so | need
option D.
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Scarlet

Complete the key:

Shape

Valuve




Addition and Subtraction

Red

>! = <! =
Ttenand + 3 ones 10 + ? ones
7 ones
1ten and 1ten and
- 4 ones 8
1one 5 ones
20 - 9 ones 5 ones + 7 ones
8 ones + 5 ones ? + 4 ones

A:7,4,9,3,5
B: 77, 44, 99, 33, 55

[olefal-1 | “[elaf+]afa]-] [ |
Lol-Is[-] | [elof-fsls[-] [ ]
Lelefaf-] | [elef+fefaf[-] | |
[el-[s[-] | [elef-[s]s][-] | |
-T2 -] | [zlzf-falzf-] [ ]

A=35;B=100; C=50; D =20

A.é: [ ] B.%,-.:: [ ] c.% [ ] o

wnn

%:-é-=45 ++ = 60
é+é_=so %,—-‘—é = 15

Ania has the most sweets (30); Leon
has 27.

I had a bag of forty-two
sweets. | have eaten nine
sweets. My friend has

I had forty-seven sweets.
| dropped eight sweets

and have eaten nine.

eaten six sweets.

R
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Mia is correct because 72 + 25 =97

seven tens and two ones + two tens and five ones

Lee says,

” I think the answer will have seven tens
s & %[ and nine ones. Mia says,
-

| think the answer will have nine tens
and seven ones.

| L&

Who is correct? Prove it.

A =24; 7 ones subtract 3 ones is 4
ones. 6 tens subtract 4 tens is 2 tens. B
= 32; 4 ones subtract 2 ones is 2 ones.

9 tens subtract 6 tens is 3 tens.

] B'[ 94-62 =
-
[

A.
[ 67 -43 =

C
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ones subtract __ onesis __ ones.] ones subtract __ onesis ones.}

__tens subtract __tensis __ tens. ] __tens subtract __tensis __ tens. ]

Scarlet is incorrect because she needs
option A. Adam is correct.

4

My number has
six tens and two

My number has
eight tens and six

[T ones so | need ones so | need
option B. option D.
Scarlet Adam
A. B. C. D.
three tens
one ten and
and forty-eight sixteen four ones
eight ones

Triangle =9, Circle = 6, Square =7

Shape

Valuve




